
УМНОЖЕНИЕ 
ПОЛОЖИТЕЛЬНЫХ 

ДЕСЯТИЧНЫХ ДРОБЕЙ
6 класс



УСТНЫЙ СЧЕТ
⦿ -6+10                  13,6*100              1,2*2
⦿ -8-13                   12,56*10               2,3*4
⦿ -7-(-12)               100*0,06               0,1*0,1
⦿ 23*(-5)                  3:1000                  0,2*0,3
⦿ -24: (-6)               13,45:100              0,4*0,4
⦿ 2х+4х                   12,3*2                    0,5*4
⦿ -5х-7х                  12,456:10              12*0,1
⦿ 2х+5х-18х           3,456*100              12,4*2
⦿ 2х+4у                   20,345:100             2,5*40
⦿ 18*100                  34:1000                1,25*8



⦿ 1,27   •   3,5=  4445
⦿ 12,7 • 0,35=  4445
⦿ 12,7 •   3,5=  4445
⦿ 0,127 • 3,5=  4445
⦿ 0,127 •0,35=  4445
⦿ 12,7  •0,1 = 127
⦿ 12,7 • 0,01=  127

⦿ 234 ⋅ 76,5 = 179010 = 
⦿ 23,4 ⋅ 76,5 = 179010 = 
⦿ 2,34 ⋅ 76,5 = 179010 =
⦿ 23,4 ⋅ 0,765 = 179010 =
⦿ 2,34 ⋅ 0,765 = 179010 =
⦿ 0,234 ⋅ 0,765 = 179010 =



ЗАДАЧИ
⦿ В магазин привезли 

540 кг моркови. 
Продали 0,4 этого 
количества. Сколько 
килограммов 
моркови осталось 
продать?

Привезли – 540 кг
Продали – ? кг, 0,4 от 
Осталось – ? кг

⦿ Собственная 
скорость катера 
14,3 км/ч. 
Скорость течения 
реки              3,8 
км/ч. Найдите 
скорость катера по 
течению и против 
течения реки.

V катера = 14,3  км/ч
V теч = 3,8  км/ч
V по теч – ? км/ч
V прот теч – ? км/ч


